NCIP$ 75 S43

IF% KAgitEkAR Y TAEETSE

H@E4 —RTER

fERERH SM6F 1A

R 1:100 ‘ HEES ‘ 173

=it4

EREL LBRKEREES EXE=REHH




% [

B, e (ATH)

BRE MR GIRIE) : MHESBRBHKEL. YEBRHAOBIAMCHRIRICTHREZAZTS. GkTEI)

Fipt

#ik

REH

8T54H RS

HERBIS
PAE DN E A A LA - V+223.38m 2 Kk H

B HIL : +223. 18m 5m (EMED)

EKELFH

RALAL
V+220. 33 (F8%E) HWL : +220. 13m

86. Om

#K31A%E HPPE)50 L=

(DP:

0. 70m) (S£4THET)

#7K51:A% HPPE$50 L=132. Om(S£4THET)
#4KBI:AE HPPELGS50 L=113. Om(%&4THET)
(DP=0. 70m)
SEET TRERKE LT

HWL : +203. 50m HWAKBAERERE

HAKSIAEHERE
250L/mim 130L/mim

\

Ry TBRKE
R [V N
LWL : +200. 00m DCIP-GX ¢ 100

BRI
oW =

3,000m? (FHAE)

BT #
(ZETH)

BAkRY TR
2 Kk i
8m (HMER)

|

100A SUS

25A SUS
25A SUS

| Ton ]

100A SUS

XIZE BAKEY b

(BETH)
100A SUS

(>t 100A SUS 100A SUS
100A SUS

100A SUS

BT #
(ZETH)

BT — Y — b

F R
© ® ©) © LasmmA. s3chs.

[ i I7Frui— #RI7Y wRI—F

INfHE KL=y BESEAERIE BRAY Y —HhN—

@40 (%32) x ¢ 80 (Rt i) Ktk Ry THEETE

3 ==
L 6200 % 350m /h x 30Pa ¢ 200mm# E BT R A HWEE on—>—+
0.38m /minx71m

SM6FE 1A
5.5kl x 3(1) —_— 15W (AC100V) _—

1 i REES

SW, 9z -hn' -, yyg-2

LBRKEREES BXE=REHH




1

EE7)<T/7
K= /'F7

17?“1 UIR—

= e

HEYH—Hh—
ﬁ S Rt (RETH)
BRE(BRIH) J___['/ /_n?w
] /
%I 7 = - T ~
= ) |[[r==—
cz% O .

= TS

HKE $50 VP

/

IOOA

et # (RETE
BWEY Y —h—

BHCAEE BA(BRTH)

TSUSY

FREER)

BRE (BEXIH)

#Ro7Y

VHWL+179. 20

2K (K> T3#)

VLWL+178. 20

BAkRYT

24 —CON

T

A-A BREE

VHWL+179. 20

BRI EF—HN

2KHE (K> T3#)

VLWL+178. 20

7

[T Tz

IF7F v

24 —CON

T

Ry THmME HHRER

$=1:30

BKE $50 VP /

B-B rmX

VGL+177.15

/ |_ TR
L
F
/ |_ VGL+177.15
TR
L
1L ARESERTH S,
IF% Ktk Ky THEETE
&4 R TRBHE #ERER
ERERR SM6F 1A
R 1:30 HEES 33
=it4
EREL LBRKEREES BXE=REHH




